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NO.25 When designing steps with operations requiring variables, it is best practice to do what?
* hard core variables

* always use scalar variables

* query targets for variables

* design for a static environment

NO.26 After running Discovery and viewing the ECC Queue tab, what are some of the displayed default fields? (Choose three.)
* Details

* Topic

* Pattern log link

* CMDB Cl

* Queue

* Source

* Discovery schedule name
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NO.27 As afirst step in horizontal discovery, which of the following is where the Shazzam probeis placed in arequest?
* Target

* Pattern Log

* ECC queue

* Discovery Log

NO.28 Which of the below choices are horizontal pattern types? (Choose two.)
* Hardware

* Software

* Infrastructure

* Application

NO.29 Horizontal discovery pattern does not use

Response:

* the connectivity section
* variables

* operations

* the identification section

NO.30 SNMP Credentials require which of the following?
* write community strings

* usernames

* read community strings

* port 135 access

NO.31 To populate variables with two different parsing methods in Parse Variable pattern operation it is necessary to have

Response:

* two separate Define Parsing selections on asingle step
* ascalar and atabular variable

* two separate Debug Mode sessions

* two different steps

NO.32 What information is displayed on each Discovery Status record.

Response:

* Secific information about devices discoved

* All log entries for discovery

* MidServer details

* Probes and sensor records including the instructions given to the probes
* Relatinships between probes and sensors

NO.33 For the Parse Variabl e pattern operation, what is required to have two different parsing methods to popul ate variables?
* Two different Debug Mode sessions.

* A tabular and ascalar variable.

* Two different steps.

* Two different Define Parsing selections on the same step.
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NO.34 What isthe best way to keep the CI which are not rediscovered in the last 30 days up to date.

Response:

* Scheduled Jobs
* Data Policies.

* Business Rules

NO.35 What object should be used to notify Config Admins or Discovery Admins of changes to the CMDB.

Response:

* Business Rules
* Notifications

* Client Scripts

NO.36 With multiple Cl data sources, which choice is the best for determining which source can update a Cl attribute?
* Business Rules

* Data Certification

* Transform Maps

* Reconciliation Rules

NO.37 File based discovery is automatically activated for all users?

Response:

* Discovery

* Administration

* Event management
* Asset management

NO.38 Which method for deleting specific Clsis not discovered in 30 days?
* Scheduled Job

* Ul Policy

* Service Mapping

* Data Policy

NO.39 Which one of the following Discovery phasesis the error & #38220;No credentials would authenticate, tried& #8221; found
on?

Response:

* |dentification

* Port Scan

* Classification

* Exploration

NO.40 A MID Server reached three Windows Server machines. All of them have the same login credentials but different IP
addresses:

&#8211; 10.100.1.11

&#8211; 10.100.1.22
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&#8211; 10.100.1.33

One more Windows Server machine has been found by the MID Server but it has different login credentials and its |P addressis

10.100.1.44.

Given that during discovery two different Discovery Credential records were created, one for the
10.100.1.11 server and the other for the 10.100.1.44 server. Which scenario is the most likely for servers
10.100.1.22 and 10.100.1.33?

Response:

* Both 10.100.1.22 and 10.100.1.33 will be inaccessible by Discovery.

* Both 10.100.1.22 and 10.100.1.33 require their own credential records.
* Both 10.100.1.22 and 10.100.1.33 will have a credential affinity with the 10.100.1.44 credentials.

* Both 10.100.1.22 and 10.100.1.33 will have a credential affinity with the 10.100.1.11 server credentials.

NO.41 There can be Cl Identifier(s) configured per Cl Class.

Response:
* 50
* 1
* 3
* 10

NO.42 Which choice best describes a horizontal discovery pattern?
* Steps that execute operations

* Credential depot

* Port scanning tool

* Classifiers that execute probes
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